Review: The discrete sampleing of x=-2(D) ×, defined B Z(K)=X(KS), STO, and susting $Z(W+1) = \frac{SL(1)}{e} Z(K)$ (onverges $\iff X(t)$ ders! Stochastic matrix (even, doubly stoch. if O is balanced) Generalization for discrete Agreement protocol: Discrete AP: X(++1) = F X(+), given $x_0 \in \mathbb{R}^n$ suppre Fis à primitive Stochastic matrix. $\operatorname{flen}_{X(t)} = F_{X(0)}^{t} \longrightarrow \alpha^{*} 1 \operatorname{espan} \{1\}$ Background on Non-regarive matrices: we say : [see Horn & Johnson] · F is irreducible if \$ P S.t. PFP= [AB] for some A, B, C matrices. . F is primitive if it is irreducible and has only one eigenvalue of maximum modulus. Lemma: if Azo Hen And primitive and Am >0 for some myl.

Lemma:
$$Z_{f}^{\ell} = B_{\geq 0}$$
 and irreducible and all digenal elements
are positive $\implies A^{n-1} > 0 \implies A$ is prinitive.
Thus: [perron-Frobenius]
 $Supp. A \ge 0$ and irreducible. Then
 $g(A) \ge 0$ ($f(B) = maximum multiple the eigenvalues of A$)
 $g(A) \ge 0$ ($f(B) = maximum multiple the eigenvalues of A$)
 $g(A) \ge 0$ ($f(B) = maximum multiple the eigenvalues of A$.
 $g(A) \ge 0$ ($f(B) = maximum multiple the eigenvalues of A$.
 $g(A) \ge 0$ ($f(B) = maximum multiple the eigenvalues of A$.
 $g(A) \ge 0$ ($f(B) = maximum multiple the eigenvalue of A$.
 $f(A) \ge 0$ ($f(A) = positive eigenvalue of A$.
 $A \ge g(A) \ge 0$, $y^{T}A = p(A)y^{T}$, $x^{T}y = 1$.
 $A \ge g(A) \ge 0$, $y^{T}A = p(A)y^{T}$, $x^{T}y = 1$.
 $f(A) = \frac{1}{N} \sum_{m=1}^{N} (\frac{1}{P(A)} A)^{m} = xy^{T}$
 $N \ge 0$
 $f(A) = \frac{1}{N} \sum_{m=1}^{N} (\frac{1}{P(A)} A)^{m} = xy^{T}$
 $forn = g(F) = 1$ is a simple eigenvalue of F (my max modules.
 $f(A) = F^{K} = 1y^{T}$ where $y^{T}F = y$, $y^{T}Z = 1$.
 $y = F^{K} = 1y^{T}$ where $y^{T}F = y$, $y^{T}Z = 1$.

Therefore : Discrete AP: $X(t+1) = F X(t) \qquad j \qquad X(t) = \int_{x_1(t)}^{x_1(t)} \int_{x_1(t)}^{x_1$ F: primitule, stochastic and respects the sparsity of the underbying graph (non-comple e⁵¹⁽²⁾) Examples of primitive doubly stochastic F: suppose G=(V, E) is connected. 1) Normalized Laplacian of G: $F = \mathcal{D}(G)^{-} \mathcal{A}(G)$ where G has at least one self-loop. 2) discretized weighted Laphneium of G: $\mathcal{L}_{W}(G) = \mathcal{D}(G) \cup \mathcal{D}(G)^{T}, \quad \mathcal{W} = \operatorname{diag}(w_{1}, \dots, w_{m})$ $f_{w} = I - \Delta L_{w}(G)$ where $\Delta < \frac{1}{S(L_{w}(G))}$ $F_{w} = \frac{1}{S(L_{w}(G))}$ $F_{w} = \frac{1}{S(L_{w}(G))}$ $F_{w} = I - \Delta L_{w}(G)$

More specifically, if we choose W s.d. $v_i = v_j$ $w_{e_ij} = \max \{d(v_i), d(v_j)\}$ Then, Ful is primidive doubly stochastic for my De(0,1). 3) Metropolis weights: ijeE $F_{ij} = \begin{cases} \frac{1}{(1 + \max\{d_i, d_j\})} \\ 1 - \sum_{k \in N_i} F_{ik} \\ k \in N_i \end{cases}$;=j 0, W.

So far, we talk about consensus on scalar stades! Before we move on, convince jourself how are can generalize this to vector stades or even matrix soudes! Answer: Do consensus element-wise!

Now, let's see some applications!

Distributed estimation: observation metrix measurmant model: 2 = H_{piq} O + V 9 L noise (Endependent) measurents P79 Assume: rank(H)=9, i.e., we have at least 9 independent meanments. Centeralized Problem: find "that achieves the least square error, i.e.,

 $\hat{\theta} = \arg \min_{A} \left\{ J(\theta) = (Z - H\theta)^{T} (Z - H\theta) \right\}$

J: differentiable, Convex in & >> $\hat{\theta} = (H^T H)^T H^T Z$

If V~ N(OIP, E) How she optimal estimator minimites ∂(1) (Z-HB) Z- (Z-HB) $= (H^T \varepsilon^{-1} H)^{-1} H^T \varepsilon^{-1} z.$

Letst square our Sersor Network (undinected) Communication Network G Sensor 2 Sensor 3 Sersor 9 Sensor 1 & Sensor i: z; = H; 0+ 2; Conderalized problem : $\begin{bmatrix} z_1 \\ z_2 \\ \vdots \\ \vdots \\ z_n \end{bmatrix} = \begin{bmatrix} H_1 \\ H_2 \\ \vdots \\ \vdots \\ H_n \end{bmatrix} \theta + \begin{bmatrix} \mu_1 \\ \mu_2 \\ \vdots \\ \mu_n \end{bmatrix}$ Assumption: His full-row rank! $\Rightarrow \hat{\theta} = (H^T H)^{-1} H^T Z = \left(\sum_{i=1}^n H_i^T H_i\right)^{-1} \left(\sum_{i=1}^n H_i^T Z_i\right)$ $= \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ h \\ z \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ i \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ i \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ i \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ i \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ i \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ i \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ i \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ i \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ i \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ i \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ i \\ i \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ i \\ i \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ i \\ i \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ i \\ i \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ i \\ i \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ i \\ i \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ i \\ i \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ i \\ i \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ i \\ i \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ i \\ i \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ i \\ i \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ i \\ i \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ i \\ i \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ i \\ i \\ i \end{array} \right)^{-1} \left(\begin{array}{c} n \\ i \\ i \\ i \end{array} \right)^{-1} \left($ Scalore cose: If B is scalar and each Hi=1 ti, Hen

 $\Rightarrow \hat{\theta} = \frac{1}{2} \sum_{i=1}^{n} \frac{1}{2} \sum_{i=1}^{n} \frac{1}{2} \frac{1$

Vector Crse:

 $\hat{\theta} = \left(\begin{array}{c} h \\ h \end{array} \begin{array}{c} z \\ z \end{array} \right)^{-1} \left(\begin{array}{c} h \\ h \end{array} \begin{array}{c} z \\ z \end{array} \right)^{-1} \left(\begin{array}{c} h \\ h \end{array} \begin{array}{c} z \\ z \end{array} \right)^{-1} \left(\begin{array}{c} h \\ h \end{array} \begin{array}{c} z \\ z \end{array} \right)^{-1} \left(\begin{array}{c} h \\ h \end{array} \begin{array}{c} z \\ z \end{array} \right)^{-1} \left(\begin{array}{c} h \\ h \end{array} \begin{array}{c} z \\ z \end{array} \right)^{-1} \left(\begin{array}{c} h \\ h \end{array} \right)^{-1} \left(\begin{array}{c} h \\ \end{array} \right)^{-1} \left(\begin{array}{c} h \\ h \end{array} \right$

Think about a situation where each node i, has two information: P; = H; H; GR and C; = H; Z; ER. -swe want to do consensus on all P;'s and Z;'s, be cause then $\theta = \left(\frac{1}{n}\sum_{i=1}^{2}P_{i}\right)^{-1}\left(\frac{1}{n}\sum_{i=1}^{2}Z_{i}\right),$ which is computable at each nucle. Consensing on Pi and Ci: For example, me can use de "metropolis weights on G'os fallows: iseE Recall : $F_{ij} = \begin{cases} \frac{1}{(1 + \max \{d_i, d_j\})} \\ 1 - \sum_{k \in N_i} F_{ik} \\ k \in N_i \end{cases}$ symm. ;=j 0, W.

30, X(K+1)=FX(K) generalizes to:

pistributed Estimation Algorithm $\frac{\partial P_{i}}{\partial P_{i}} = H_{i}^{T} H_{i}, \quad \mathcal{T}_{i}(o) = H_{i}^{T} Z_{i}$ $\frac{for exch k z_{i} \circ \frac{m}{2}}{P_{i}(k+1) = P_{i}(k) + \sum_{j \in N_{i}} F_{ij}\left(P_{j}(k) - P_{i}(k)\right)}$ $Z_{i}(k+1) = Z_{i}(k) + \sum_{j \in N_{i}} F_{ij}\left(Z_{j}(k) - Z_{i}(k)\right)$ -once P;(x) secones inversible, we also have a local $estimate \hat{\theta}_{i}(\kappa) = \left[P_{i}(\kappa)\right]^{-1} Z_{i}(\kappa) \quad \cdot$ $\neq We now know that <math>\hat{\theta}_{i}(k) \longrightarrow \hat{\theta}_{i} arguin J(\theta)$ as long as Girs Connected. 륕.